Efficiency vs P,

~0.0%
o
£9.009
>
9.008
(]

2.007

)
0.006

0.005F f ; :
0.004F -1 * ------------ SRS e

0.003F -+ + ------------ SRR e

0.002----4 + ------------ ------------ ------------

0.001F+++-eeekieeerienns R e
Q= "+'+"""+“I ..'...'.'.'.'.'.'.'i. =t .'.'.'.'.".i.. e

Ratio

oo + ------------ ------------ _—

110 38, el

o

—=— DQM_V0001_R000000001__Global__mkFit_baseline
—e— DQM_V0001_R000000001__Global__mkFit_var
—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean

=0.01
[
2.009
(8]
9.008




	Contents
	Page 1


